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PHYSICS EVETS
1. Light-year is the unit of 1. it And @ b gewe
(A) time (A)
(B) light intensity (B) == Hig=0
(C) distance (C) =%
(D) energy (D) =if&

2. Three forces acting on a body are represented by
the sides of an equilateral triangle in the same order.
Then

' (A) the forces are equal.

(B) the resultant of the forces is zero.
(C) the resultant of the forces is non-zero.

(D) the body moves with non-uniform
acceleration.

3. Twobodies of masses Skgand 10kg are dropped
from the same height. The ratio of their kinetic energies
just at the moment of touching the ground is

(A) 1:2
(B) 2:1
(C) 1:1
(D) 1:4

4. Abomb of mass 6 kg explodes into two pieces of
masses 2 kg and 4 kg. The first piece moves with a
velocity 2 m/s towards the east. The second piece moves
with a velocity

(A) 2 m/fs towards east.
(B) 1 m/s towards east.
(C) 1 m/fs towards west.
(D) 2 m/s towards west.

5. The r.m.s. velocity of a gas of molecular weight
M and temperature T is
(A) proportional to T?
(B) proportional to /M
(C) proportional to /(T /M)

(D) proportional to T

2. @%b IFF ©HT 497 fedl Toie 9ol Tar
forgrera RS e aimt W=l wFow et 3wt T | i
(A) el sam
(B) T=alFa =1l <+ |
(C) TmalFm =G <0 73|
(D) T w=1w g2 fArd vemc

3. 5kg @ 10 kg ST 7o TEF G2 Twl (AT
s (raat T | Bt = v a1z Sarw s
TS

(A) 12
(B) 2:1
(C) 1:1
(D) 1:4

4. 6kg =@ T @M &FF 2 kg ¥R 4 kg SE@EI G0
408 #ifRee 27 | 2o Qef 4F e 2 m/s @l el =
o 2afe @ @t sfefm 77 ot 2=

(A) 2mfs Qs W
(B) 1m/fs &l S=EME
(C) 1m/s ol «ifom e

(D) 2mfs &5t %ieq e

5. M=iET eafRie 9as T SwesiRfFE e s
35 @S *0d Isq=A

(A) T2 AR

(B) M -9 FFANE!

(© J(T/M) ~az Fatgas
(D) T-47 Eb Co
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6. Which of the following is not a conservative
force”

' (A) Frictional force
(B) Gravitational force
(C) Electrical force
(D) Magnetic force

7. A cylindrical vessel is fitted with a movable
piston. It contains saturated vapour at 30°C. The volume
of the vessel is decreased by moving the piston keeping
the temperature fixed. Then the pressure of the vapour

(A) increases according to Boyle's law.

(B) decreases.

(C) remains unchanged.

(D) increases, but notaccording to Boyle'slaw,

8. Theimpurity to be added to silicon to produce an
n-type semi-conductor is

(A) Arsenic
(B} Indium
(C) Boron

(D) Alluminium

9. Electromagnetic wave is produced by
(A) static charge.
(B) charge moving with uniform velocity.
(C) accelerated charge. )
(D) varrying electric current.

10. Radiant heat is absorbed best by
(A) black rough surface.
(B) black smooth surface.
(C) white rough surface.
() white smooth surface.
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6. R D AT I AN e
(A) Tt A
(B) T2I5¥ q=
(C) %2 <=
(D) GIET 94

7. @2fb @R AAGe 9% Proa @i e
(oTS AT T | 6T 30°C Teoela @ I wig |
Turol GARES crd B Wi «inag wimea T
%7 | OIRTF JIToAF Bist

(A) I~ 3 A 36 #ima |
(B) B =i

(C) weifFafEe a|

D) % A, g Te-a7 7@ = )

8. i n-BiRet wdeifEaT tufd Tare Firerme wex
@ wsfE @ e TI Ol =

(A) SCiFRe
(B) ZAf&amm
(C) @&

(D) iR

9. SfbepTIT TFF Lol T
(A) T2 =y
(B) &9 st sifHia =gt |
(C) o =iy |
(D) “fFadaa ek

10. REEe oo FRE STAEE ciEd T@
(A) ITE ST s |
(B) FE T & |
(C) et =y B |
(D) 7! = T



11. Atuning fork produces 3 beats/sec withastretched
string for two lengths 100 cm and 110 cm of the string
under the same tension. The frequency of the tuning fork
is :

(A) 100Hz

(B) 105 Hz

(C) 110Hz

(D) 115Hz
-12. A train is moving towards an observer with a
velocity of 36 km/hr and is emitting a sound of frequency

320 Hz. The velocity of sound in air is 330 m/s. The
frequency of the sound heard by the observer is

(A) 310 Hz

(B) 320Hz

(C) 330Hz

(D) 340 Hz
13. The focal length of an equiconvex lens is 20 cm
in air, The refractive index of the material of the lens is

1-5. Its focal length in water (refractive index 4/3) is
approximately

(A) 20cm
(B) 40cm
(C) 60cm
(D) 80 cm
14. The minimum length of the antenna needed for
transmission of asignal having carrier wave of frequency
1MHzis
(A) 75m
(B) 100 m
(C) 200 m
(D) 300 m
15. ABCisanequilateral triangle of sides *r’. Qisthe

mid-point of AB. Charges +q are placed at A and B and
a charge —q is placed at C. The force acting on —q is

(A) 3q?/(4me,r*) directed along CO -
(B) f3q%/(4ne,r?) directed along OC
(C) q*/(4ne,r?) directed along AB

(D) q*/(4ne,r*) directed along BA

11. @3 BEM v @ob B vt oEw (G2 BImT
) 100 cm @3% 110 em, <2 b tieda we oTaws 5
T35~ i o9 | HEfR =fhs v =

(A) 100 Hz
(B) 105 Hz
(C) 110Hz

. (D) 115Hz

12. 93 G wwem wi@q fe 99%m 36 km @1
WA TR TS 320 Hz 79ites <% [+ 3=0e | I
=R @9 330 mfs | T @ TI0ET HE waE o 5

(A) 310 Hz
(B) 320 Hz
(C) 330 Hz
(D) 340 Hz

13. IS G AREA @R @A G 20cm |
FCRA BAMITAS afew 3= 1-5 mﬁ(ﬁﬁmmm)mﬁa

IR 1 TR
{A) 20 cm
(B) 40 cm
{C) 60 cm
(D) 80cm

14. 1 MHz FAiT8s I GH0AE A0 G350 Aers
AEI5IT T G SOOI AEIGHE Prres o7l 2

(A) 75m

(B) 100 m
(C) 200 m
(D) 300 m

15. ABC g3t s frge | w7 4l am o o)

AB~4% 74R7 O | A €38 B 0% +q A ¢ C Rers
—q A T S0 | —q ST 9ad T I

(A) COTRT f3q? / (4me,r?)
(B) OCTHRA 3q? / (4ne,r?)
(C) ABTERT q* / (dne,r?)
(D) BATEE q* / (4ne,r?)
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16. *The equivalent resistance of two resistances is
9€2 when connected in series and is 22 when connected
in parallel. The resistances are

(A) 30, 6Q
(B) 40, 6Q
(©) 10, 8Q
D) 3Q,30Q

17. Two metal spheres have radii 2 ¢cm and 3 cm. The
first one is uncharged and the second one is given a
charge 10 esu. They are connected by acondueting wire.
Then the charge on the two spheres will respectively be

(A) 4esu, 6esu
{B) 6esu, 4esu
{C) 5esu, 5esu
(D) 10 esu, 0 esu

18. A heat engine is working between two
temperatures. The efficiency of the engine is

(A) equaltothatofaCarnotengineif the engine
is irreversible.

(B) less than a Carnot engine if the engine is
reversible.

(C) equaltothatof a Carnotengine if the engine
is reversible.

(D) greater than that of a Carnot engine if the
engine is reversible.

19. If the kinetic energy of a free electron is doubled
its De Broglie wavelength will be

(A) doubled
{B) halved

(C) +f2times

(D) 1 times

N

20. A dielectric slabisintroduced between the plates
of a parallel plate capacitor. The following will remain
unchanged:

(A) Charge in the capacitor

(B) Energy of the capacitor

(C) Potential difference between the plates of
the capacitor

(D) Electric field inside the capacitor
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16. 6 (AT G AR T T/ TR T 90
9%, NG AR T TAE GeUeay =W 201 @yeH
=

(A) 30, 6Q
(B) 40, 6
(C) 19, 8Q
(D) 30, 30

17. 96 41 (ofeneeea e 2 em 938 3 em | 22
TR 9 SIS 10 esu LR (FET | (AT BT
B A1 I TE TE 91 2 1 93 (e 1B TS S
TYEFH

(A) 4esu, 6esu
(B) 6esu,4esu
(C) 5esu, 5esu
(D} 10 esu, 0 esu

18. 3o il g it Taeora g wiw wacz | 3EAba
wEEel S 2 el
(A) A 3 2fE SereEe w71
(B) o 3 3 ZfEl arepafs =)
(C) i aft 2fEais den<f® =
(D) ot &P A e 2renafe =1

19. 9= 3% SERLEe s Red sai g o w

- geff ES|

(A) TRee
(B) wd=s

(C) y2ud

©)

V2

20. I CEERLT TS 9T TAMGE % Y@
b #ATes T 2 TR 74 | @ R weifae ama
of 2=

(A) 4T Y
(B) yr=a «if&E
(C) #irs ¥fos My Rew sty
(D) 40T Wered oieerwy



21. Magnetic materials suited for making a permanent
magnets must have

(A) small BH loop

(B) high retentivity and low coersivity
(C) high retentivity and high coersivity
(D) low retentivity and high coersivity

22. Thecurrentthrough aninductor of self-inductance
0-1 His decreasing at the rate of 2A/s. The EMF induced
in the inductor is

(A) 02V
(B) 01V
(C) 04V
(D) 05V

23, The P of atransistoris 100. When its base current
is 10 pA the emitter current is approximately

(A) 101 mA
(B) 10 mA
(€) 09 mA
(D) 11 mA

24, The binary equivalent of the decimal number
12.251s

(A) 110001
(B) 1010:01
(C) 1100-1
(D) 10111

25. A heating coil is connected to a battery. The
length of the wire is decreased by 10%. The rate of heat
generated in the wire will

(A) increaseby 11.1%
(B) decrease by 11.0%
(C) increase by 10.0%
(D) decrease by 10.0%

21. ﬁmwﬁmﬁmmmm@ﬁ
<l W O %E

(A) (=I5 BH a7

(B) ©W% yigrael ¢ o9 fHagieret
(C) T 4TS ¢ T fMemseel
(D) <9 R TETe ¢ T% Magiere

22. 0.1 H=#ies @it s vy T et
2 A/s TR Al s | i b re Wik wisms o

T
(A) 02V
(B) 0-1V
(C) 04V
(D) 05V

o

23, <36 GFEPoEE B =100 199 SREI=EI4 10 pA

(A) 101 mA
(B) 1-0mA
(C) 09 mA
(D) 11 mA

24, i AR 12,2597 IRAE v =
(A) 110001
(B) 101001
(C) 11001
(D) 1011-1

25, <6 Sixged <3 IR 7z 7E | 'orafes el
10% T 27 | SIEGTs Berid ©itA4d =9

(A) 11.1% TreF
(B) 11.0% T3
(C) 10.0% TeT
(D) 10.0% F=13
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CHEMISTRY EVETS

26. The hybrid states of C atom in diamond, graphite
and ethyne are respectively

(A) sp®, sp?, sp
(B) sp’, sp’, sp
(C) sp, sp?, sp®
(D) sp*, sp?, sp

27. Kinetic energy/mole of an ideal gas is
{(A) directly proportional to temperature.
(B) inversely proportional to temperature.
(C) independent of temperature.
(D) zero at 0°C.

28. pH ofanaqueous solution of NaCl at 85°C should
be

(A) 7
(B) =7
(C) <7
(D) Zero

29. Themostabundantelements presentin theearth’s
crust are

(A) Aland Cu
{B) Aland Fe

(C) Feand Cu
(D} Cuand Ag

30. Equal weights of methane and oxygen are mixed
in an empty container at 25°C. The ratio of pressure of
oxygen to total pressure is

(A) 1:3
(B) 1:2
{(C)y 2:3

1 273
e
@) 3 298
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26. T, HFERE G R (0 C AT A=
TAF

(A) sp®, sp?, sp
(B) sp’, sp’, sp
(C) sp, sp*, sp®
(D) sp? sp, sp

27. e TR o IS st
(A) TR AL AT |
(B) Tmoig AN R wreifes |
(C) TwwerE Bow s s A
(D) 0°C-(T *[7) |

28. 85°C &&wey NaCl & 53019 pH =
(A) 7
(B) >7
(C) <7
(D) *{0

29, G AAHCH (A SASH T @R e 24
(A) Al&@= Cu
(B) Al93%Fe
(C) Fe9wdtCu
(D) Cug® Ag

30, 25°C Cwrol W @&e fieen @ wfEem o
1% qF g G %= | SREEEE B 6 AR @b
BitAE SR -

(A) 1:3 g
" (®) 12
(C) 2:3
1 273

D) 3208



31

32

33.
agent?

Which polymer is formed in nature?
(A) Polyethylene

(B) Nylon

(C) Polystyrene

(D) Cellulose

Therate of a pseudo first-order chemical reaction

{A) depends upon concentration of reactant
present in minimum amount.

(B) depends upon concentration of reactant
present in excess amount.

(C) does not depend upon the concentration of
reactants,

(D) depends only on temperature.,

In which medium H,O, serves as an oxidising

(A) Neutral medium

(B) Alkaline medium only

(C) Acidic mediuvm only

(D) Both acidic and alkaline medium

34. The correct order of alkalinity of amines is

(A) 3°>2°>1°>NH,
(B) 3°<2°<1°<NH,
(C) 2°<3°<1°<NH,
(D) 3°<2°<NH,<1°

35. The relationship between AH and AU is

(A) AH =AU

(B) AH =AU —nRT
(C) AH=AU +RT
(D) AH=AU + AnRT

31. @ =i e (o sk
(A) wAfAgieRm
(B) iz
(C) +IFrolRfEm
(D) CRIAR

32. = - e g aw

(A) @ Rt e Beifs, mw%w
w7 == |

(B) @ R witman S«fEs, or vy
Borg T T

(C) Ritrarea siivrgs Tom Féa T A1
(D) ©yEIE Teoig ol e |

33, (3 YW H,0, TES B Fia Fa 2
(A) e T
(B) wywIY =T TGN
(C) vy wifFs Tgem
(D) =IfET 9 =S T=a g™

34, SpfGE FEoTeE Ale Tal =
(A) 3°>2°>1°>NH,
(B) 3°<2°<1°<NH,
(C) 2°<3°<1°<NH,
(D) 3°<2°<NH,<1°

35. AH a9 AU~GT S0 721500 ==
(A) AH=AU
(B) AH =AU -nRT
(C) AH=AU+RT
(D) AH =AU + AnRT
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36: 5g of aradioactive substance has t,, = 14 hours,

20g of the same substance will have t,,, equal to
(A) 56 hours
(B) 3-5 hours
{C) 14 hours
(D} 28 hours

37. In which of the following process, AS>0?
(A) HO() — H,0(s)
(B) 30,(g) = 20,(g)
(C) H,O(s) — H,0(})
(D) N,(g) + 3H,(g) — ZNH,(g)

38. Compounds [Co(S0,).(NH,),] Br and
[Co(SO,).(NH,),ICI are
(A) linkage isomers
(B) ionisation isomers
{C) co-ordinate isomers
(D) shows no isomerism

39. Producer gas is
(A) N,+H,
(B) CO+H,
(C) CO+N,
(D) CO,+N,0

40. Which of the following compounds exhibit
mutarotation?

(A) Glucose

(B) Sucrose

(C) Starch

{D} MNone of the above
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36. S5gil coGling ML, = 149%1120g 62933

CoRE ST t, T

(A) 569
(B) 3-59%1
(C) 14 %1
(D) 28 9%

37. @ RfFams AS>0 we
(A) H,O() — H,0O(s)
(B) 30,(g) = 20,(g)
(C) H,0(s) = H,0()
(D) Ny(g) +3H,(g) — 2NH,(g)

38. [Co(SO,).(NH,),] Br¢ [Co(SO,).(NH,),]Cl Z&
(A) a9 T
(B) I RIS
(C) =2l A
(D) GG FNRHTS! (4

39. (A8t o0 ==
(A) N,+H,
(B) CO+H,
(C) CO+N,
(D) CO,+N,0

40. T5e @m el crw ST (d Tm e
(A) g

(B) L=
(C) 7516

(D) ©HAET @GS 79
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41. Gadolinium is a 4f-block element (at.no:64).
Which represents the electronic configuration of
Gadolinium? [Xe=54]

(A) [Xe] 4f75d'6s?
(B) [Xe] 4f5d%6s
(C) [Xe] 4ff6d®
(D) [Xe] 4f°5s!

41, spTEERTE 4-fe wEsfol Siea m:{ﬁ?
siCeTEiwaITT 2rEens [ ?

(A) [Xe) 4£75d!6s
(B) [Xe] 4f*5d%6s*
(C) [Xe] 4£%6d°
(D) [Xe] 4%5s"

42. The number of atoms present in Fe,(CO,), is 42. Fe(CO,), =0 (G ?{WT-’T AR =

(A) 17 (A) 17
(B) 18 (B) 18
(C) 19 (C) 19
(D) 20 (D) 20

43. Which of the following KClaqueous solution has 43, (F KCl-47 Sl 301 Qe #/fRaifae 5w

the least value for equivalent conductance? KTk
(A) IM (A) IM
(B) 0-1M (B) 0-1M
(C) 0-01M (C) 0-01M
(D) 0-001M (D) 0-001M

44, 25°C Tweom AgCl-93 TN GRTH HIArol SIoE

44. K_ for AgCl in water at 25°C is 1-8 x 107 If
A 1-8 x 10710 | 5390 T0s 10~ (s Ag* S @IS T3 23 |

1075 mole of Ag* ions are added to this solution, Ksp

becomes' sifafde niae sowe g7
(A) 18 = 10 (A) 18 x 1018
(B) 1-8x 1010 (B) 18 = 1010
©) 18 x 10% (©) 18 x 10°

(D) None of the above (D) TR @IS 7w

45. CH,CH,OH can be converted to CH,CHO by
{A) Catalytic hydrogenation
(B) Reaction with LiAlIH,
(C) Reaction with KMnQO,
(D) Reaction with acidified K,Cr,O,

45. CH,CH,OH G M aféF CH,CHO-(S #f#3fE
=91 97

(A) STEBHA FRGTRA

(B) LiAlH <R 74 e =

(C) KMnO,~a7 #itd Rfem s

(D) =5 K,Cr,0,~7 7id ffgm s
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46." Which of the following reagents does not cause
réduction?

(A) Benedict's Solution
(B) LiAlH,
(C) NaBH,
(D) Grignard’'s Reagent.

47. Whichreagent can distinguish between 1-butyne
and 2-butyne?

(A) Br,
(B) NaNH,
(C) HCI
@) 0,

48. The number of lone pair electrons present on the
oxygen atom in water

(A) 2
B 1
© 0
D) 4

49. The oxidation state of oxygen in Na,0, is
(A) +2
(B) -1
C) +1
(D) -2

50. Dissolution of SO, in water produces
(A) H,SO,
(B) HS,0,
(©) HS,0,
(D) H,SO,

12

46. 7 @ R fRoawd T ae
(A) @AREE 73
(B) LiAlH,
(C) NaBH,
(D) fasne s

47. @ e e 1-REEs ¢ 2-RehEa-ag
e AefaT ge T qE e

(A) Br,
(B) NaNH,
(C) HCl
® o,

48, T IS TS TR QERGA~CHI0TS A
(A) 2
(B) 1
(C) 0
(D) 4

49. Na,0, (S SREEwE Tl 21
' (A) +2

®) -1

(C) +1

D) -2

50. &G SO, 7Y TAE &4ES
(A) H,SO,
(B) stiﬂ?
(€ HS0

(D) H,SO,
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